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OLdgs A2y 4,500,000 4,500
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OtE+g 120,000& 2 +2& 480
@=0iHI(nSHl, S2tl)
10,0003 231 620
OARIEEZ(O122E3)
246,550 x2H+1 .53 740
O2E A AREXH 26,758
030 & H3=+¢ 24,292
o= 76,9603 x1H#185& 14,238
Ol (RES7d, EX=E)
76,9602 1891 7,004
otEg 120,000 x 12 *10 1,200




SN oI5l AR
B K|gols) 2o
tel: 3gs N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=0iHl(nSHl, S&Hl)
10,0002 124+ 1852 1,850
ONCEET=ISIEEEE)
246,550« 1H* 102 2,466
201 2= 66,171 84,691 18,520
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OS2 a ZJ14z)| o
30,0002 x 1201128 4,320
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Jl=23H] 91,810 85,290 6.520
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